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QUESTION 1

An administrator needs to evaluate if the existing configuration of Protection Domains meets the specified corporate
recovery policy for SQL Data. The corporate policy requires that all SQL Servers be recoverable at the DR site within 30
minutes, and must result in a maximum of 60 minutes of data loss. SQL data must be required. 

The protection domain is configured as follows: Application consistent snapshots are enabled The SQL server VMs are
assigned to the Protection Domain as their own Consistency Group The Protection Domain schedule is configured as
snapshots taken every 90 minutes from 7 am until 8 pm 

What must be changed to meet the required policy? 

A. Revise the schedule to be 15 minutes 

B. Revise the schedule to be 60 minutes 

C. Revise the schedule to be 30 minutes 

D. Revise the schedule to be 45 minutes 

Correct Answer: B 

 

 

QUESTION 2

Refer to the exhibit. 

User 1 and User 2 belong to the AAPM group. 

What are two descriptions of how Files perform quota management? (Choose two.) 

A. User 2 can continue to add another 3GB file but will receive a daily notification email. 

B. User 1 can continue to add another 5GB file but will receive a daily notification email. 

C. User 1 can add an 8GB file to the share without receiving notification. 

D. User 2 can add an 8GB file without receiving a notification email. 
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Correct Answer: BD 

 

QUESTION 3

An administrator learns that some security settings in a cluster have been changed. The environment is out of
compliance with required policies. 

Which function should be used to revert any settings that have changed from the defaults and prevent further
violations? 

A. Cluster Lockdown with strong password enforcement 

B. Advanced Intrusion Detection Environment (AIDE) 

C. Security Configuration Management Automation (SCMA) 

D. Defense Information Systems Agency STIG enforcement 

Correct Answer: C 

Reference: https://portal.nutanix.com/page/documents/details?targetId=Nutanix-Security-Guide-v5_17:secsecurity-scma-
implementation-wc-c.html 

 

QUESTION 4

An alert about RX errors on eth2 on a node is reported in the cluster. The administrator logs in to the CVM in question,
checks the ping_* files in the data/logs/syststats folder, and notices intermittent ping loss. The node in question has the
following network configuration: 
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Which action should be used to troubleshoot without disrupting the VMs running on this node? 

A. Replace the cable from eth2 to the switch 

B. Remove eth3 from br0-up and monitor for new alerts 

C. Check the port on the switch side for any errors 

D. Enable balance-s1b on br0-up and monitor if a problem persists 

Correct Answer: C 
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QUESTION 5

An administrator responsible for a VDI environment needs to investigate reports of slow logins. The administrator finds
that increasing the number of vCPUs from 2 to 4 will reduce the login times. Production workloads are consuming 75%
of the host CPU on the cluster. The administrator increases the vCPU count on all of the VDI VMs. 

What are two impacts on the cluster? (Choose two.) 

A. Increase CPU utilization % 

B. Increase CPU ready % 

C. Increase memory utilization % 

D. Increasing CPU counts will decrease memory utilization 

Correct Answer: AB 

Latest NCM-5.15 Dumps NCM-5.15 VCE Dumps NCM-5.15 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest NCM-5.15 Dumps | NCM-5.15 VCE Dumps | NCM-5.15 Practice Test                                5 / 5

https://www.geekcert.com/ncm-5-15.html
https://www.geekcert.com/ncm-5-15.html
https://www.geekcert.com/ncm-5-15.html
http://www.tcpdf.org
https://www.geekcert.com/ncm-5-15.html
https://www.geekcert.com/ncm-5-15.html
https://www.geekcert.com/ncm-5-15.html

